5 6 2 EEREESFFRABARYI M-I R K= [AifaK]

1 3 H ¥H28&5H14H () ~58A16H (A)
2 = B AEINHRAR-YLE

(BF0DEB)
)-8k
A B @It T|IZERBE| B | & | B
A B I O18@ 14O 2 — 0f 2 0 1
Bl it T|e 14 @ 18 O6 — 1| 1 1 2
ZE3He 0 - 2(e1 -6 0 2 3
(TZFDEB)
Tl )— 9 SREER—F AT J||E'f_L/;il):E¥k
AJ—4 ?%R;r%a‘rc'a H[B 1 EE|H MNIZE B
BU-J |Z & A B A fBlZAZIIRBEG|Mm 5l|%& & %R R
Al)—4H
R T | B 1 E|H MAE B I B | & | a4
R T HE O4 - 0/]0O10@® 0|]O 6 — 1O 7 ® 0| 4 0 1
B Hle 0 — 4 @6 — 8|]®@3 —6|/]0109 9] 1 3 4
B 1L X|e 0 @100 8 — 6 O 7 —-5|/05 - 4| 3 1 2
H e 1 -6/0O6 - 3|5 -7 O6 -5 2 2 3
A & Jllle 0® 7| 9 © 10|@ 4 5|@ 5 — 6 0 4 5
-4
A INAa A BEE)IRBE M SI|Z BB B | 8 |Ei
= =l O5® 4|/023® 0[016® 0|]O 5 - 0| 4 0 1
B 59 fEle 4 ® 5 027®0/01530[/07®0f 3 [ 1] 2
A8)HZ e 0 ® 22|@ 0 B 27 @ 30320 0®23 0 4 5
fin 5l®@ 0 ® 16|/@ 0 ® 150213 3 e 2 (10 1 3 4
Z % Hle 0 — 5(e 0B 7/023@ 00106 2 2 2 3
58148 () YUk
[ATki5] (BEkiZ])
OFREZE7O®0E & I OFZEAINS - 0&FHERP
@# W =E5-4E &#H I @ AB)IWEE 0 @ 23 % & 2R B
FRELZEG6 — 1 H AT FFEAI1B 0 M 3l
@8 1 E 8 — 6 i =
(CEki5)
ONE 3 - 6H |
@B A Bi153 0 fin Gl
@B A fB273 0 AB/EKE



58158 (H) U

(ABKI%] (BEkiZ]
OFRELZEI0@® 0B L =H O®EAI20G 0 AL)IEKG
@ H A 5 78 L =HE @ fia 5l 21 ® 3 AE)IREEG
OFRLEZIE4 — 0 & FZERAIS5® 4AH A B
@ H 6 —-5%E & I
[CEki5) (DBkiZ] (BF)
@B A B760LFERHA A B N2 -0&LZERP
@ & F10®9AE B I Q&I 6 - 1&FHERBE
® fin 5l 2 ® 10 % & %R B8 @I T14a@1828 &
581608 (B) RESM—FADN-IEADRESK
ORI ~—F 24> MA-BEKIS])
1 1® 17
A2
0 2 3 @ 15

’ Al \ ’ Bl \
WREE =P LR FEERA
(A14i) (B21i) (A21i) (B11i)

I B2 |
6 | 0
o IIBzRE: (CEkiz]
® | M2 - 8 RBERB [5 -6M0RE]
(A3i7) (B3fi7)
@ 14 H£9 06 1M 3l [7-8hnRE]
(A447) (B447)
@®E B Jl2s3 0 AZEE [9-1065RER]
(A5£1) (B547)
(BFOEB) (ZFOEB)
$Eif  ABIBEER I FEAIEEER
$27  BBLILTEEEER $EAT  EAEREER
$3M  DEBEEEER $E3M  EREEESEER

FAMI  BILURFFFR
F5MI RIEEASEFFR
FofL HENEFFR
B/ HERFFR
E8MI  ABIEFFER
£ AR/IISFFR
£10fi AE/NEBEEFFR
XBREERAREA-T U5
56 2 EEREFFRABTAZYI MR-
¥28%F684H () ~6RA6H (A) EZAH-BUIIILSEAIR-YLE (5F)
SRS -DEFEEESNE M (ZF)



566 2 MEBESEFFRUBAZYI M-IV KEEX RS

58148 () 1HE

(ATKiZ)
F£1Ha
2 N e 3 4 10 | 11 | 12 5
AEIN &K 0 0,0
WREZBEER 1| 2 |2x
(5EERZEI-ILR)
F2:H5
2 N 2 1 10 | 11 | 12 5
BILES K 5
AEIN &K 0 4
F£3HE
3 5% & 3 10 | 11 | 12 5
BH & &8 K 1
WTREZBEER 1 6
( BEKki%)
F£1HE5
3 5% & 10 | 11 | 12 5
ZERIPASK 0
FEAINGR 5
£2H5
3 5% & 3 4 5 10 | 11 | 12 5
ABIREG SR 0 0 0
ZERBRASKR |17 X 23
(3EEREI-ILR)
£3mE
2 5N & 3 4 5 10 | 11 | 12 5
fin 51 B & 0 0
ZFEARINGR 10 | x 16
(3EERZEI-ILR)
F4HE
¥ 5N & 3 4 5 10 | 11 | 12 5
BILRS K 0 8
wW & & K 0 3 6




([ CEkiz)

F£1Ha

o 5N % 10 | 11 | 12 5
HW & & K 3
H & &8 K 6
F2HE

¥ 5N % 4 |5 10 | 11 | 12 5
fin 51 & & 0
B A s K 9x 15

(3EERZEI-ILR)

F£3HE

3 5% & 3 4 5 10 | 11 | 12 5
ABNIMWEEK | 0 0 0
SIDEI = % 23| 4 X 27

(3EEREI-ILR)




%6 2[DESRS

¢5H15H (H) %£2HBE
(ATKiZ)

EFRARBARYI MR- EERERAEIX AR

E1as
* 5% % 2 3 5 6 8 10 | 11| 12 g
BlU=RESTR 0 0 0 0 0
FTREBEBR 2 | 3 | 4x 10
(4 EB=ZEI-ILR)
g2ia
* 5% % 8 10 | 11 | 12 g
BLUERBS®K |0 7
BH & 8 & 5
E3ia
* 5% % 3 4 5 6 8 10 | 11 | 12 B
FTREBEBR 4
W oE B R 0| 0|0 O 0
[ BEKiZ]
E1aa
* 5% % 3 4 5 6 8 10 | 11 | 12 B
BB FE SR 0 0 0
FERINER 22 X 22
(3EBEEI-ILR)
g2ia
F R % 1 3 4 5 6 8 10 | 11 | 12 B
AEIREE SR 1 0 3
e a8l & & |19 X 21
(3EBEEI-ILR)
E3ia
F 5% % 2 3 4 5 6 10 | 11 | 12 B
= [T A= 0 0 0 0 0 4
FEaIER 0 20|10 1x 5
(EE 8 [EI51TL—hH-)
EaE
F 5% % 2 8 10 | 11 | 12 B
H & &8 & 0 6
BAEBEINB K 2 5




([ CEkiz)
F£1Ha

¥ N 2 3| 4 6 9 | 10| 11 | 12 5
ZERIPASK 0] 0 0
B A s K 1] 0 |3x 7
(5EE=RZEI-ILR)
F2HE
¥ 5% & 2 3 4 5 6 9 | 10| 11| 12 5
AEBIN &K O, 0|01 9
H & & K o0 0|0 1 2x% 10
(GER 9 E51TL—h-)
F£3HE
3 5% & 3 4 5 6 9 10| 11| 12 5
fa 51 & & 0] 0] O 2
ZERIPASK 0| 1| x 10
(5EEREI-ILR)
(DikiZ] (55F)
F£1HE
3 5% & 9 10| 11| 12 5
AEBIN &R 2
ZERIPASK 0
F2HE
3 5% & 2 9 10| 11| 12 5
ZERPASK 1
BLIETESK 5 6
£3HE
3 5% & 3 4 5 6 9 10| 11| 12 5
ABIN &K 10|15 18
BLIETESK O] 0| 1] 4 1 0 14

GER1 1[E51TL—h—

~




%6 2[0EEREF

¢5H16H (H) &=#&H
(ATKiZ)
B 1HE [HFERE]

FRABARYVINR- VR RIERBX KRS

¥ 5N & 3 10 | 11 | 12 H
TREZEER
ST Y=
F£21E [R5
* 5% % 1 3 4 5 10 | 11| 12 g
ST Y= 1 0 1
FraIER |11 X 17
(3EERZEI-ILR)
[ BEki%]
E£1HE [HEREs]
* 5% % 2 3 4 5 10 | 11 | 12 g
Bl RS R 3100 3
FERINGER 2 | 5 x 15
(4 EFEREI-IR)
E2HE [3-4fDRTEH]
* 5% % 10 | 11 | 12 g
Bl RS R 0
TREZEER
[ CEki5)
E 13RS [5-6ArRTEH]
F 5% % 1 4 10 | 11 | 12 B
ZERAER
H & & & 0 0
E2mE [7-8fiLRTE]
F % % 3 4 5 10 | 11| 12 B
wWOoE B R 0 3 0 9
fla 8 & R 0| 0|0
(5EERETI-ILR)
£ 3G [9-10f0RFE]
F % % 1 3 4 5 10 | 11| 12 B
ISR 0 0 0
AEBIN &K |20 X 25

(3MEEHAEI-ILR)




